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Section 1 - Reasoning

No. of Questions: 50

1) Select one of the following four options that will make the second pair analogous to the first pair
given as:

Ants : Nest :: Bees : ?

A) Herd
B) Flock
C) Hive
D) Family

1) fFrfaf@a IR fsheut 3 ¥ U B199T Y Ol Ay SIS D! Ugel SiiS! & TATT S
et il AYATFEAT :?

A g
B) as
C) o
D) aftar

2) What is the next term in the number series given below?
57, 57, 46, 46, 35,

A) 12
B) 35
C) 19
D) 29

2) it & TS e ARGl # SATe UG 7T 67
57, 57, 46, 46, 35,

A) 12
B) 35
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C) 19
D) 29

3)57isto19as81isto__

A) 23
B) 27
C) 29
D) 34

3) 57 O yR ¥ 19 § gFaferd 8, SUIT&R 81, ?

A) 23
B) 27
C) 29
D) 34

4) In a certain code, ‘731’ is coded as ‘study very hard’, ‘953’ is coded as ‘hard work pays’ and
‘145’ is coded as ‘study and work’. Which digit in that code is coded as ‘very’?

A) 1

B)7

C)4

D)9

4) U ARad e &, '731' BT § ‘study very hard’, '953' B1 313 & *hard work pays’ 3R '145' HI
3% § ‘study and work’. e & 9 $IF Ul T very' BT He BRI 2

A) 1
B) 7
C) 4
D)9

5) Which of the following statements can be used to answer the given question?
Question : Which day of the week is today?

A) Today is not a Tuesday
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B) Yesterday was Wednesday
C) Tomorrow is not a Sunday
D) Problem cannot be solved

5) 39 AT IR 0T a1 & faw Peafaf@a & 3 e YT &1 UGN iR o I &:
T2 : TS Fodg I DI Il &t 872

A) 31T HITAAR 18T 8

B) e gHarR T

C) Hdt Taar 78T §

D) garean g gt i S Iobcll &

6) How many triangles are there in the following figure?

A) 6
B) 8
C) 10
D) 12

6) fee=Tfaf@d Sl #F foncer Feyst 872
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A) 6
B) 8
C) 10
D) 12

7) Which of the following sets is NOT similar to the given set?
(May, July, October)

A) (January, March, May)
B)

)

)

(

(May, August, December)
C)(
(

D

April, July, October)
January, May, July)

7) frafaf@a & @ &9 91 ¥e e U I & UM 67 82

8) Which of the following questions can be answered by using the given statements?

Statements:

A) Shyam is brother of Rahul
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B) Radha is sister of Shyam

A) Who is father of Radha?

B) Who all are brothers of Radha?
C) Is Shyam a brother of Radha?
D) Is Madhu mother of Shyam?

8) T U eyt BT IUTNT R fereaATard & 9 frd wesT &1 3a% o off Johdll 87

DY :
A)ew@aﬁlﬂ?%l

B) 7T 2TH dr 98 5

A) 14T BT RIar ®IH 82

B) Jrem & aft 1t i &2
C) = 23 YT BT TS 87
D) g 1y eamar AT 87

9) Meena is twice as old as Shina. 3 years ago, Meena was thrice as old as Shina. What is the
present age of Meena?

A) 12 years
B) 8 years
C) 6 years
D) 4 years

9) HHT =1 ¥ SN SS15 | i Tet g, HiAT =1 & fepit s te| HH1 iy oA 37 4 67

A) 12 a§
B) 8 o
C)ea¥
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D)4 a§

10) Showing a photograph, Priya said, "he was the only son of the father of my sister’s
brother." How is that person related to Priya?

A) Brother in law
B) Father

C) Son

D) Brother

10) T WIC! fg@re! §U il = b8l foh 98 A 761 & HIS B T bl wahaATa U7 8| I8 cafere ol 1
T AT 82

A) Frar
B) frar
C) =T urg
D) g

11) Given below are four pairs of numbers. In three of the pairs, the 2nd number is related to the
first number in the same logical way. Which is the odd one out?

A) 123 -6
B) 257 - 14
C) 235 -10
D)712-8

11) A1d Team3it & IR e o 71T & A1 et &, gudy dear Sl arfdhes s § gl T
Tafta 81 i I SiS iws 82

A) 123 -6
B) 257 - 14
C) 235 -10
D)712-8

Page60f86



Setld: 61813 3 Technical Assistant (LAB) - Chemical BATCH3 180CT2020

12) In what way can the terms of the given set be divided into two different sets on the basis
of vowels and consonants?
(B,H, T,E,O,A M U,P)

A) (E, T, A, U)and (B, H, O, M,

B) (E,O,A,U)and (B, H, T, M,
)(H,O,A,U)and (B, E, T, M,
)

E,O,A,B)and (U, H, T, M,

C

(
(
(
D) (

P)
P)
P)
P)

12) forr 8% W 39 Y zad Bl &l et et ¥ TRt 3R Tt & YR W Fafierd fpa S Jebal
87

(B,H,T,E,O,A, M, U, P)

A) (E, T,A,U) 3R (B, H, O, M, P)

B) (E,0,A,U) 3R (B, H, T, M,P)

C) H,0,A,U)3R(B,E, T, M, P)

D) (E, 0, A, B) 3R (U, H, T, M, P)

13) What is the minimum number of cuts required to form 64 small identical cubes from a bigger
cube?

A) 5
B) 7
C)9
D) 10

13) TH 909 ¥ 64 BIC T FM & 0 =770 Rhciet BT JHaedehcl 82

A) 5
B) 7
C)9
D) 10

14) Select one of the following four options that will make the second pair analogous to the first
pair given as:

Dog : Bitch :: Drone : ?
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A) Bear
B) Bee
C) Doe
D) Stag

14) AT IR Fheul & ¥ T BTG Sl gl SIg1 D! Igelt SISl o FATT S ll:

15) In a row of children, G is sixteenth from the left end of the row. If she is shifted towards the
right by four places, then she becomes fifth from the right end. How many children are there in the
row?

A) 24
B) 25
C) 26
D) 23

15) Sedif 1 TP dfad &, G Ufed & 918 SR I Aelgd €U+ W g1 I IV IR w21+t gt iR
TUATIRS T ST 3, o) 98 aifget R ¥ 9rad T2eT W 3T 1T 8 | 9fera # frdet a0 £2

A) 24
B) 25
C)26
D) 23

16) Read the information given below and answer the question that follows: There are six teachers
A, B, C, D, E and F in a school. Each of the teachers teaches two subjects - one compulsory and
one optional. D’s optional subject is History while 3 others have it as compulsory subject. E and F
have Physics as one of their subjects. F’'s compulsory subject is Mathematics which is an optional
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subject of both C and E. History and English are A’s subjects but in terms of compulsory and
optional subjects, they are just reverse of those of D’s. Chemistry is an optional subject of only one
of them. The only female teacher in the school has English as her compulsory subject.

What is C's compulsory subject?

A) History

B) Physics

C) Chemistry
D) Mathematics

16) I &1 T8 STThRY 9 3R 39 AT 1 dTg &

TS fearerd # ©% e A, B, C, D, E 3R F €| ycds Riateh &l v S UgId & - U 3ifaard fawg
3R U dapfouer| D &1 dafoud AT sfag § STafe 3 31w aell H198 3ifaard fawa g1 E 3R

F & ot & 9t #ifad 81 F &1 3iferard v 1fiq 8 S C 3R E &f 61 U dafouss R g1
STaerT 3R 39S A & R &, aifteet 3ferar 3R dwfous It S g7 &, 9 D & &% fAadd £l
T 3141 Y $Had U Pl Jehfoush 9T § | TRd & TeharTs Afger RaTeh & U e fse & &9
3T B

C &1 319y v #4182

A) gfaga
B) siifaehr
C) o=
D) 1o

17) What is the next term in the number series given below?
3,4,6, 10, 18, 34,

A) 65
B) 68
C) 70
D) 66
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17) =1 & TS ST AT 3 ST U T 82
3,4,6,10, 18, 34,

A) 65
B) 68
C) 70
D) 66

18) What is the next term in the number series given below?
31, 8,4.5,5.5, 13, 56,

A) 512
B) 648
C) 560
D) 456

18) HId & T8 TEAT 4% 3 TSl UG &2
31,8, 4.5,5.5, 13, 56,

A) 512
B) 648
C) 560
D) 456

19) What is the missing term in the number series given below?
34.5, 71, , 868, 4345, 26076

A) 280
B) 216
C) 198
D) 149
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19) 2 &1 TS T 4T # SFIREY UG #4782
34.5,71, ___, 868, 4345, 26076

A) 280
B) 216
C) 198
D) 149

20) Within a time-interval a train travels 84 km whereas a bus travels 38 km. How long will the train
travel when the bus travels 95 miles?

A) 150 kms
B) 168 kms
C) 210 kms
D) 320 kms

20) Th THY 3JdTd & HIdR U o7 84 et amar Rl 8, Fafeh Uh a9 38 e i 37 Hail g | oid
Y 95 TS & AT B o, Al o fhelell G Y T B2

A) 150 forar
B) 168 foreft
C) 210 foray
D) 320 fereft

21) In a certain code ‘123’ is coded as ‘hot filtered coffee’, ‘356’ is coded as ‘very hot day’ and ‘589’
is coded as ‘day and night’. Which digit in that code is coded as ‘very’?

A) 3
B) 5
C)9
D)6

21) e fARad e HIWT 3 123" Bl ‘hot filtered coffee’ & &9 &, '356' 1 ‘very hot day” & &9 & 3R
'589' I ‘day and night', & & 3 for@m 7T & 1§ HIWT 3 DI A TEAT 'very' & T & Peaeyl 87

A)3
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B) 5
C)9
D)6

22) In a certain code, ‘256’ is coded as ‘you are good’, ‘637’ is coded as ‘we are bad’ and ‘358’ is
coded as ‘good and bad’. Which digit in that code is coded as ‘and’?

A) 8
B) 6
C)3
D)7

22) T fAfRae e HIWT 3 '256' ! ‘you are good' b & H, '637' Bl ‘we are bad’ & &7 & 3R '358' &I
‘good and bad' & &7 & fI@T T § | B Ul FEAT 'and' BT PHC § ?

A) 8
B) 6
C)3
D)7

23) If AIR is coded as GREEN, GREEN is coded as BLUE, BLUE is coded as SKY, SKY is coded
as YELLOW and YELLOW is coded as WATER, then what would be the code for ‘colour of clear

sky’?

A) BLUE

B) WATER
C) YELLOW
D) SKY

23) 9 AIR ®I GREEN & &9 # , GREEN ®1BLUE & &7 3, BLUE &I SKY & &9 # Peaeyr famar

T 8, SKY ®IYELLOW & &7 & 3R YELLOW HIWATER & &9 & Pesey fhar 74T g, ol ‘clear
sky & 3T BT HE T N2

A) BLUE
B) WATER
C) YELLOW
D) SKY
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24) Which of the following statements can be used to answer the given question?
Question :
What will be the next month if it does NOT have 30 days?

Statements :
A) Current month has 31 days.

B) Current month is NOT the first or last month of the year.

A) Only A

B) Only B

C) Both A and B together

D) Not possible to decide even with both A and B

24) T T 93T H1 3] &1 & faw ReaAfaf@d & 9 fra ST &1 TN 311 ST bl 82

YReT:

mmﬁ?wm&mwﬁw%ﬁaﬁg’iﬁ?

DY
A) TTATT TG F 31 feaT &
B) adHTT ALAT ¥ &1 UG UT 3ifae AT 78T 5|

A) Hada A

B) %adB

C) A 3R B =it Ts A1y

D) A 3R B gt & Ty Ht FoTer BT GHa AET &

25) How many triangles are there in the following figure?
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A) 12
B) 13
C) 14
D) 15

25) fa=Ifef@d T & fohdel BT 87

A) 12
B) 13
C) 14
D) 15

26) Which of the following options does NOT have the same property as the elements of the given
set?

(3, 81, 243, 729, 2187)

A)9
B) 27

C) 15309
D) 6561
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26) fAFaifaf@d 7 @ fra e 3 fqw T He & deal & FHM 07 767 § 2
(3, 81, 243, 729, 2187)

A) 9

B) 27

C) 15309
D) 6561

27) Which of these options can be judged from one of the remaining three options?

A) P is an even number

B) P is the square root of a number
C) P is a perfect square

D) P is not prime

27) 2197 q B T e AW A fsreat 3 T T F il S bl 82

A) p O &

B) P Uoh W B a9 Ha §
C) p qof et 3

D) p 3rs1re%r e ET ©

28) The head of the department of an office is 26 years old while the cashier is 3 years older. The
average age of all the other 9 employees will be reduced by 1 year, if these two persons are
excluded. What is the average age of the employees in that office?

A) 23 years
B) 25 years
C) 27 years
D) 28 years

28) U riery 3 Ta879T & TG 1 3T 26 a9 §, STaifeh HAIT I4 3 a8 FST5 | I T &

it &l enfirer At fhar ST, @ 37 T 9 FfaRat A SfIed 311 T a¥ HH g1 S| 34
hraTerT & TRt i 3 31 fhd= 87

A) 23 a§
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B) 25 ¢
C) o7 a¥
D) 28 a§

29) Pointing Sumana, Samar said, “Her mother’s brother is the son of my mother’s father.” How is
Sumana’s mother related to Samar?

A) Aunty

B) Sister

C) Mother

D) Daughter

29) YH #T 3R SARTHRA G, R 7 B8], "3HAT Al bl HIS AR AT P RHar D1 YT ¢ 1" JA &1 Al bl
TR ¥ aFar Rear 82

A) Tt
B) s&
C) grar
D) &

30) Seeta's mother's sister's only brother is Ramesh. How is Seeta related to Ramesh?

A) Aunt

B) Sister

C) Niece

D) Daughter

30) T &1 A r 989 BT 3HAAT HTs W 8 | Tl ST ey WY T HI 872
A) Trht

B) §g

C) wisht

D) a&r
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31) Among the given pairs of terms, identify the option in which the pair of terms is NOT similar to
each other?

A) JAM - 24
B) BORE - 40
C)KITE - 47
D) LOOP - 58

31) T U el oS & ¥, I Ryehedl 1 UgaH i [Seel gaf i sl Uh-guR & T #¢i 82

A) JAM - 24
B) BORE - 40
C)KITE - 47
D) LOOP - 58

32) In the following figural series, which answer figure will complete the pattern?

Problem Figures: Answers Figures:

A
©/\ OC@ ? @D @( ‘6

(A) (B) (©) (D) (1 ) ) 4

A) 1
B) 2
C)3
D) 4

32) fArafaf@a S 4er # B Al 367 SMHfar det DI R B2

Problem Figures: Answers Figures:
© A |C ¢ (O |C_|¢&

A Ol @l ? « =
(A) (B) (<) (D) (1) (2) (3) 4)
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A) 1
B) 2
C)3
D) 4

33) In the following figural series, which answer figure will come next?

Problem Figures: Answer Figures:
+ +| =+lA=-+A-+| |-A+A-+| OAlA-+
- O—- O O o0 O |0 OO0 © -0 O
AOD®AOSADS OO JEL O 90 +|®
(A) (B) © D) (B (1) (2) (3) €]
A) 1
B) 2
C)3
D) 4

33) TeAfaId ST ST &, HIF T iy el FeX NP TN

Problem Figures: Answer Figures:
+ +| =-+lA-+A-+| |[-A+A-+]| DAA-+
- Oi1= O O o0 OO0 OO © -3 O
ADOADSADS OO JEL O 00 +|®
(A) B) © @ ® (1) ) (3) 4)
A) 1
B) 2
C)3
D) 4

34) In the following figural series, which answer figure will complete the pattern?
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Problem Figures: Answers Figures:

e BN

(A) (B) (€) D) (1) (2) (3) 3]

A) 1
B) 2
C)3
D) 4

34) feafarAd Sefer el &, B A 3aX SHpfar Yoot I g B3N 2

Problem Figures: Answers Figures:

(o1& 7| [la]d|lk|la

(A) (B) (© (D) (1) (2) (3) 4)

A) 1
B) 2
C)3
D) 4

35) In what way can the terms of the given set be divided into two different sets such that the terms
in each set are similar?

(8, 36, 27, 81, 125, 49)

A) (36, 81, 49) and (8, 27, 125)
B) (36, 81, 125) and (8, 27, 49)
C) (36, 27, 49) and (8, 81, 125)
D) (8, 81, 49) and (36, 27, 125)

35) fore TRE U U 7T 9 & el D1 <l fafdeet det ¥ qaffed frar S Tl ¢ i Jeds 9 & Ug T
IR D FHET g7
(8, 36, 27, 81, 125, 49)
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A) (36, 81, 49) 3R (8, 27, 125
B) (36, 81, 125) 3R (8, 27, 49

C) (36, 27, 49) 3R (8, 81, 125
)

(
(
(
D) (8, 81, 49) 3R (36, 27, 125

)
)
)
)

36) A big cube is made from 729 identical smaller cubes and is painted on all the faces. What is
the number of smaller cubes that have atmost two faces painted?

A) 562
B) 821
C) 640
D) 721

36) U 9199 729 THM BIC gt T 91T 74T § 3R 39 I+ Badi ol de frar a1 31 T Bl
Teit 1 HeE fhae €, S 3ifire § 31 4 had i gu €2

A) 562
B) 821
C) 640
D) 721

37) Select one of the following four options that will make the second pair analogous to the first
pair given as:

(2+3+5) : 30 :: (3+5+7):

A) 105
B) 120
C) 145
D) 160

37) RFAfaf@d 9R fRdedt & A T BTG Y Ol G Slle] ol Tgell Silel &b THEY 1 3:
(2+3+5) : 30 :: (3+5+7) : :

A) 105
B) 120
C) 145
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D) 160

38) Select one of the following four options that will make the second pair analogous to the first
pair given as:

Disabled : Retarded :: Liberated : ?

A) Captured
B) Free

C) Privileged
D) Liberal

38) FAfaf@d IR fsedt # ¥ U DT TG Y Sl gAY Siig| P! Igell S| o FoAwT ST l:
a7 AfAAS : HaF:?

A) 528

B) raoeg

C) eI rsea
D) 3er

39) A, B, C, D and E play a game of cards. A says to B, "If you give me 3 cards, you will have as
many cards as E has and if | give you 3 cards, you will have as many cards as D has”. A and B
together have 10 cards more than what D and E together have. If B has 2 cards more than what C
has and the total number of cards is 133, then how many cards does B have?

A) 22
B) 23
C) 25
D) 35

39) A, B, C, D 3IR E I 1@ Ward &1 A, B Y Hoal1 6, "afg MU 3 F1E ad &, @ e FEE S
UT & 3MTUch U S & 18 giar SR 7y 3 310 bl <fi oprs <l § ot 3M7Ueh U D & ot 18
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g1 A SIRB &t & UM AT 10 FIE G SN D SR E gt o el s 4 HfAH g1 I B I U C A
2 1S 31 & 3R TS B el TEAT 133 5l dl B B UMY fohctel 1S &7

A) 22
B) 23
C)25
D) 35

40) A bought 3 apples and 4 bananas for ¥ 80 while B bought 4 apples and 3 bananas for ¥ 95
from the same shop. What is the difference between the price of one apple and one banana?

AR5
B)Z 10
C)Z 15
D) % 20

40) UG EY GHM 4 Th et A 3 9 3R 4 HdA 2 80 7 @er SR B 7 4 T 3R 3 Fal 95 & @lie|
T 99 3R TS Bl T HioAd & sid Pl AR 7 57

A)Z 5
B) 2 10
C)%15
D)% 20

41) Which of the following statements can be used to answer the given question?

Question : What is the radius of the circle P?

A) The diameter of the circle P is twice the radius of the circle P
B) The diameter of the circle P is the longest chord of the circle P

C) lts areais 12 cm? less than that of a square with side length equal to its diameter
D) Problem cannot be solved using the information given in any of the options

41) 2T T 92 P13} &1 & faw eafaf@a 37 ¥ fre BT S SUTANT 3T S Thdl 82

et I P & e #4167

A) I P PIcaE ad P P Rear A QT §
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B) g7 P ®lcara ga P i Je qell Silal §
C) Y& ahe 12 cm? BH g I T J [TaH! 53 TaTg SHH A & SRR §
D) st el i frrow % & 78 STeTr b1 SUGNT cbiech TAEAT B o761 &1 ol Hebell 8

42) Which of the images amongst 1, 2, 3 and 4 is the CORRECT water image of the figure X?

L DD DS

A) Image 1
B) Image 2
C) Image 3
D) Image 4

42) fArT R X T AT 1, 2, 3 3R 4 wfafeest & ¥ F 1 wé 9 gfafers 82
X 1 2 3 4

A) gfafaes 1
B) ufafassr 2
C) gfafassr 3
D) wfafass 4

43) Which of the following options does NOT have the same property as the elements of the given
set?

(BX, HR, DV, FT)

A) EU
B) CW
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43) RFEATEd & ¥ e fasheq & U T 9T & dedl & GHM T[0T 78T 57
(BX, HR, DV, FT)

A) EU
B) CW
C) MN
D) GS

44) Which of these options can be judged from one of the remaining three options?

A) Sum of P and Q is more than 100

B) At least one among P and Q is greater than 50
C) At most one among P and Q is greater than 40
D) At most one among P and Q is lesser than 70

44) 3137 ¥ DI 1 fehed AN 1 fashet & T TH U 31T S Fobdl 52

A) p 3R Q HTTANT 100 V 31fRrw B
B)psiRQAIFHIABH TS 50 © U= §

C) p 3R Q # T U surer A sy 40 ¥ 310+ @
D) paiRQF VTS ST A eI 70 A HH T

45) Which of the following questions can be answered by using the given statements?

Statements:
A) Mark and Steve have a total of 109 marbles.

B) The number of marbles with Steve is a two digit prime number.

A) What will be the remainder left when number of marbles with Mark is divided by 27?
B) What will be the remainder left when number of marbles with Mark is divided by 37?
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C)

What will be the remainder left when number of marbles with Steve is divided by 37?
D)

What will be the remainder left when number of marbles with Steve is divided by 47?

45) T 7T FU=T DT ITANT IR Feofaiad & I fre wee DI 3% a7 o Fobdl 872

DY :

A) 7 3R T & UTH Pl 109 Hd &
B) TG & UTY & dvall 1 AT <l 37T d1 3791 HEAT §

A) A& & UM & et dr TEaT B 2 Q fAiorg B WR sred AT 4T RTT?
B) A & U & el i dear &l 3 9 fenfora B UR ured AN @ar gINTT?
C) &g & U & i i Tear i 3 ¥ Fenfard H3- UR 9o AU a1 §IIT?
D) &g & UM & el T T Bl 4 ¥ fFsiora HR1 UR 9o 9% 47 GRIT?

46) Out of the scores of four students A, B, C and D, the score of A is twice of that of B, the score

of B is one-third of that of C while the score of C is 5 times of that of D. If the average score of A, B,
C and D is 24.75, then what is the highest score?

A) 9

B) 25
C) 30
D) 45

46) IR BT A, B, C 3R D, B ETRR A F, A HITHR B Y AT 5, B BITHR C & U fgTs & Siafeh
CHITHR D BI5 A1 51 | T A, B, C 3R D H1 3MHd ThRX 24.75 8, Tl ITacisl ThIX 4T 67

A) 9

B) 25
C) 30
D) 45
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47) P is the brother of Q, Q is the brother of R, and S is the father of P. On the basis of these
relations, which one of the following statements is definitely wrong?

A) Q is the brother of P
B) Q is the son of S
C) Pis the son of R
D) R is the brother of P

47)IR P, QHTHE 8, Q, RHTIUS 8, S, P BT ar 51 37 Redl & MR W, eaAtari@a & 9 SiH-91
HY Red §9 1 TTAd 82

A)Q,PHTHE &
B) Q, S&Iser®
C)p,RFICT B
D)R, P&HTHE &

48) Among the given quartets of numbers, identify the option in which numbers are similar to each
other based on prime factors of the numbers?

A) 2, 3, 8 and 64

B) 21,63, 78 and 77
C) 27, 81, 243 and 729
D) 12, 21, 68 and 81

48) T 7T T3t & Aqsey A Y, I ey Hr UG Y, Sraet T Uh-giR & THET §72

A) 2,3, 8 3R 64

B) 21, 63, 78 3R 77
C) 27, 81, 243 3R 729
D) 12, 21, 68 3R 81

49) In what way can the terms of the given set be divided into three sets such that the sum of
the two terms in each set is equal?

(967, 896, 1086, 1246, 807, 1157)

A) (967, 1086), (896, 1157) and (807, 1246)
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B) (967, 1157), (896, 807) and (1086, 1246)
C) (967, 1157), (896, 1086) and (807, 1246)
D) (967, 1086), (807, 1157) and (896, 1246)

49) forg ek ¥ U U I zwr & uel &l i A et & efora fhar o Yabdl @, arfeh ol S oaat
& Y&t HTART A B2
(967, 896, 1086, 1246, 807, 1157)?

A) (967, 1086), (896, 1157) 3R (807, 1246)
B) (967, 1086), (896, 807) 3R (1157, 1246)
C) (896, 1086), (967, 1157) 31X (807, 1246)
D) (967, 1157), (896, 1086) 3R (807, 1246)

50) Letters of English alphabet are arranged in the form of a triangle in a way that the first row has
1st alphabet, 2nd row has next two alphabets and so on. Which alphabets are in the 6th row?

A) KLMNOP
B) PQRSTU
C) IUKLMN

D) UVWXYZ

50) 331l qofaTer & 376RT B TS BS S &9 & 3 I8 Y cHafeyd fohar Ol ¢ fo gl diFa &
TR 378 8, GO dferet 31 AT & 378 ¥ TR 341 oRe o Y | oét dfered &f D ¥ 3w &2

A) KLMNOP
B) PQRSTU
C) IUKLMN

D) UVWXYZ
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Section 2 - English Language

No. of Questions: 50

51) Identify the antonym for the word.
BLUR

A) hit
B) sharpen
C) bounce
D) fit

52) Choose the correct article to complete the sentence:
She found pen lying under the table.

A) a

B) an
C) the
D) zero

53) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) This books/ (B) are not (C) for sale. / (D) No Error.

A) A
B) B
c)C
D)D

54) Complete the sentence with a correct phrase. If you want the manager's support you must
the rules.

A) abide by
B) abide on
C) abide for
D) abide at

Page280f86



Setld: 61813 3 Technical Assistant (LAB) - Chemical BATCH3 180CT2020

55) Fill in the blank with the correct pronoun:
He likes you more than

A) you
B) me
C)it

D) she

56) Select the right preposition for the blank:
They found him to be the most suitable candidate the post.

A) to
B) for
C) with
D) on

57) Fill in the blank with the correct option:

He refused to divulge any details the plan.

A) off

B) with
C) about
D) by

58) Choose the correct option to complete the sentence:
The spotlight faded the houselights came up.

A) if

B) unless
C)and
D) lest

59) Identify the Complex sentence.

A) His interest in the project declined after his wife died.
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B) There is a dearth of new homes in the region.
C) He can't decide whether to buy it.

D) She has always shown great dedication to the cause.

60) Choose the word that is correctly spelt

A) Envison
B) Envision
C) Envesion
D) Ennvision

61) Identify the synonym for the word — barbaric

A) smooth
B) drunk
C) hairy
D) brutal

62) Identify the synonym for the word — anonymous

A) huge

B) carefree
C) eminent
D) unnamed

63) Fill in the blanks with the correct option:

Priya karate class every Saturday.

A) attended
B) attend
C) attends
D) attending

64) Fill in the blanks with the correct form of verb:
When | go to university, | in the students' hostel.

A) am staying
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B) will be staying
C) will have stayed
D) was staying

65) Choose the correct verb to complete the sentence:

[ at the moment.

A) am travelling

B) was travelling
C) will be travelling
D) travelled

66) Choose the correct verb to complete the sentence:

| could not meet him because he

A) will go

B) will be going
C) has gone

D) is going

67) Identify the antonym for the word — oblivious

A) aware

B) preoccupied
C) evident

D) blind

68) choose the correct article to complete the sentence:
light was so bright that | had to cover my eyes.

A) A

B) No Article required
C) The

D) An

69) Identify the part of the sentence that has an error:
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| couldn't able to ask my dad permission to watch a movie.

A) | couldn't able
B) to ask my dad
C) permission to

D) watch a movie.

70) Choose the meaning of the italicized idiom used in the given sentence.

My colleague told me that, if | accepted the new assignment, | would bite off more than I could
chew because | already had a lot of work to complete.

A) have to work hard

B) impress my boss

C) take on more than | can handle
D) eat greedily

71) Choose the meaning of the italicized idiom used in the given sentence.
The teacher said to the latecomer, "What's your excuse? I'm all ears."

A) going crazy

B) in a hurry

C) very angry

D) listening intently

72) Fill in the blanks with correct option:
We gave them opinion and they gave us opinion.

A) Our's/Theirs
B) Ours/Their's
C) Our/ Their
D) Our/Their's

73) Fill in the blanks with correct option:

He brings chocolates whenever visits us and takes pet wherever he goes.

A) she/her
B) his/he
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C) her/she
D) he/his

74) Choose the correct option to complete the sentence:
All telephone reservations must be confirmed writing.

A) by
B) in
C)on
D) to

75) Choose the correct option to complete the sentence:
The load was lifted a crane.

A) by means of
B) through

C) in case of
D) upon

76) Choose the correct option to complete the sentence:
Women played a relatively role in the organisation.

A) major

B) best

C) biggest
D) miniature

77) ldentify the Compound sentence.

A) The engine drives the wheels.

B) We sat down and started the exam under the strict supervision of the teacher.
C) She was always the driving force behind the scheme.

D) They are just empty promises.

78) Given below are 4 words. Identify the one that has been misspelt.

A) Abbess
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B) Abetment
C) Ablation
D) Acoutics

79) Given below are 4 words. Identify the one that has been misspelt.

A) Delicious
B) Sluggish
C) Acceptible
D) Passivity

80) Identify the synonym for the word — ruthless

A) callous
B) porous
C) viscous
D) ponderous

81) Identify the synonym for the word — parsimonious

A) fatherly
B) friendly
C) miserly
D) kindly

82) Fill in the blanks with the correct form of verb:
Breakfast cereals with vitamins.

A) are enriched

B) enrich

C) is enriching

D) has been enriched

83) Fill in the blanks with the correct form of verb:
His dog generally everywhere with him.

A) go
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B) goes
C) have gone
D) shall go

84) Select the right verb for the blank:

The court the grandmother, as the guardian of the orphan child.

A) appoints
B) appointing
C) appointed
D) appoint

85) Choose the antonym of the underlined word.
The clergyman wrote an elegy in the country churchyard.

A) Layman

B) Ecclesiastic
C) Parson

D) Pastor

86) choose the correct article to complete the sentence:

You should appear calm in interview even if you're terrified.
A) an

B) No Article required

C)a

D) the

87) Choose the correct article to complete the sentence:
Hari, goalkeeper, saved the match.

A) a

B) an

C) the

D) No article required
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88) Identify the part of the sentence that has an error:

Yesterday, while | was outside, my friend has come to my house.

A) Yesterday,

B) while | was outside
C) my friend has come
D) to my house.

89) Choose the meaning of the italicized idiom used in the given sentence.
The young lady bumped into the little boy so hard that he fell and, then, added insult to injury by

demanding that he should apologize to her.

A) made a bad situation worse
B) scolded him

C) teased him

D) injured him

90) Choose the Pronoun in the given sentence:
The children were arguing among themselves.

A) themselves
B) among

C) were

D) children

91) Fill in the blanks with correct option:
It looks as if it is going to rain, so | can't dispense

A) with
B) for
C) from
D) of

92) Fill in the blank with correct option:

The crisis will soon blow

my umbrella.
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A)in
B) on
C) over
D) of

93) Choose the correct option to complete the sentence:
There was a of traffic as the road was impassable.

A) relocation
B) allocation
C) diversion
D) reversion

94) Choose the correct option to complete the sentence:
Vegetarians have an to meat.

A) enthusiasm
B) aversion
C) attraction
D) affection

95) Identify the Simple sentence.

A) They nearly ate everything before we had arrived.
B) The bee turns nectar into honey.

C) Juliana had a lovely nature so everyone liked her.
D) She tries to be neat, but her husband is a slob.

96) Choose the correctly spelt word

A) Magnifisence
B) Magnifiscence
C) Magnifisense
D) Magnificence

97) Identify the correct synonym:
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Dither

A) Exaggerate
B) Agitation
C) Act

D) Calm

98) Identify the correct synonym:
Entangle

A) Punish
B) Fend

C) Bend

D) Ensnare

99) Fill in the blanks with the correct option:

I tell you, but | forgot.

A) am going to
B) will

C) was going to
D) will try to

100) Select the right verb for the blank:
the shrine.

She carried flowers whenever she

A) visited
B) visit
C) visiting
D) visits
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Section 3 - General Awareness

No. of Questions: 50

101) In which city was the 23rd edition of the Asian Athletics Championship conducted?

A) New Delhi
B) Doha

C) Dhaka

D) Sharjah

101) URIATS TeTd ATEUIATAT Bl 2391 HERIOT ford R & ST fovam T UT?

A) 75 el
B) @Yg1

C) ardT

D) grReg

102) Which chemical is used as a preservative in acidic foods such as pickles, carbonated drinks?

A) Sodium nitrite

B) Sodium propionate
C) Sulfur dioxide

D) Sodium benzoate

102) 30 Wie Tery Ol 7 3ER, Siefes 0 & qRRets & &9 & e @rfes gers &1 3uanT
femam ST &2

C) gew S1g3iiarass
D) gtfea# ssiiue

103) Which one of the following materials is an insulator?
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A) Silver

B) Diamond
C) Mercury
D) Iron

103) f=ttariad & ¥ B Ul amel faegarie 87

A) Tiéy
B) &rr
C)ury

D) fig

104) ‘Prohibition of traffic in human beings and forced labour’ has been added in which category of
fundamental rights of our Indian Constitution?

A) Right against exploitation

B) Right to freedom

C) Cultural and educational rights
D) Right to equality

104) BHR HRAT @faen= & Aifars 3RHRT & AT a3k Fak Holgdl R gfader & fha
Soft 3 ST 82

A) =Nl & faeey 31fEsR

B) Tacirar &1 31t

C) wremfar 3R Rrem Wath 3
D) Swar &1 3R

105) Where is the Velankanni Church situated?

A) Goa

B) Tamil Nadu
C) Maharashtra
D) Karnataka
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105) Jelichostl T BB AT 872

A) T

B) afirersi
C) wgrrse
D) seteen

106) The English meaning of the Sanskrit word 'Himalayas', which is the home to the world's
highest mountain peak, Mt. Everest is

A) Roof of the World
B) Abode of Snow
C) Rocky Iceberg

D) Abode of Clouds

106) TEHT 2Usq; "RRATerT, Sl G & FaY Salgdd A, AIST Takee B IR 8, BT 3736 319 &7
e

A) T 3B des
B) srals sfib &

C) grhr 3mmegest

D) sailg 3ifth Femssa

107) The Siliguri Corridor, a narrow stretch of land connecting mainland India with the north
eastern states of India is popularly known as

A) Transit route

B) Multimode route
C) Chicken's Neck
D) Peacock's Neck
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107) RIS IRIRER, HfF BT T Gt 87 Sl HRd & A& YA DI HRd b 3a3 Udt T2t B 1Y
Searg| I8 e IH 9§ i 872

A) gifsie &

B) AediAls we
C) Riepeq A
D) dyerterg 4

108) Among the given the options, identify the incident that took place in the year 1919.

A) Chauri-Chaura Incident

B) Jallianwala Bagh Massacre

C) First War of Indian Independence
D) Non-Cooperation Movement

108) 8T U fehedl # I, a§ 1919 & =é e S ggda 3|

A) TR g
B) shferatarem ST AR
C) gorer YR Tad=ar 9ame

D) arqganT sfigra

109) Who among the following led the peasant movement in Awadh demanding the abolition of
'Begar’, and social boycott of oppressive landlords during the British rule in India?

A) Surendra Sai

B) Chittur Singh

C) Baba Ramchandra
D) Madhukar Shah

109) f=tfaf@d 7 A freret Siae & fraret Sfialer BT -dea fama, foraet HIRd 3 3f3eh Ara &
SR SR 1 WA B 3R GHTRRY FHIGRT B AT Sfgsehr 1 7Tl Y T8 o2

A)ﬁi-aqrg
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B) frR Rl
C) q1e1 vH=ig
D)y s ame

110) The Indian government's chief legal advisor and primary law officer is

A) The Solicitor General of India
B) The Chief Justice of India

C) The Secretary, Ministry of Law
D) The Attorney General of India

110) HRA IRPR & &I BT TAGHR AR GerTel BT HTHRT HH 87

A) YRA & difafies ST RA
B) YRd & Heg wamameher
C) afea, oI Farer

D) 4Rd & 31eieif S Ra

111) As per Article 55(3) of the Constitution of India, the President of India is elected through which
of the following processes?

A) Territorial representation
B) Functional representation
C) Proportional representation
D) Minority representation

111) HRATG Tfaem= & 3 wde 55 (3) b 3TAR, HRA & Tsguia Hrafaf@a ufsransit & 9 fras
GaRT I SiTd 7

A) SrRres ST
B) sritersr wfafafaea
C) srrefares ST e
D) sreutieas gfafafica
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112) What is Aditya - L17?

A) New hybrid car developed by Honda Motors, India
B) Battery operated helicopter developed by DRDO
C) First mission of ISRO to study the Sun

D) Industrial robot developed by BARC

112) 3MfecT L1 &R g2

A) gisT Ared, YRd ganT A s gIsfs R
B) DRDO 2@ fasfiie dedy danfard gefereex

C) g 1 3reger B & AT ISRO 1 Ugdl Az
D) BARC garr fassfaa sitezifare siie

113) The first edition of Khelo India School Games (KISG) inaugurated by Prime
Minister Narendra Modi was held in which of the following cities?

A) New Delhi
B) Pune

C) Vizag

D) Chennai

113) FITT#EY g AT gaRT eared Wdl 33T Thal 15 (KISG) BT Ugdl TEmvT Hefarad &
Y foFg GRS R 7T U1?

A) 78 el
B) qot

C) 39T

D) Jeets

114) Which Cricket team clinched Raniji Trophy title 2018-197?

A) Mumbai
B) Rajasthan
C) Vidarbha
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D) Jharkhand

114) T8 Torehe &1 = TSI ETHT 2018-19 HT F-T SidT?
A) T

B) qrereumr
C) Reey
D) grds

115) In March 2019, who among the following was appointed as the Chairman of Life Insurance
Corporation of India(LIC)?

A) T C Suseel Kumar
B) M R Kumar

C) Varsha Sharma
D) Raj Kumar

115) AT 2019 #, R Sita ST RamT (LIC) & 31eweT & &9 & RArafaf@d & 9 e e fean
TaT?

A) & It gt AR
B) T 3R $HR

C) gt erAT
D) 31e AR

116) The world's first 5G phone was released in which of the following countries in April 20197?

A) Denmark

B) Singapore

C) United States America
D) South Korea

116) T &1 Ugdl 5G B 31der 2019 & e & ¥ v A= 8 STy fovam T 17
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A) SAATH

B) RorR

C) dgza v=a 3mfkar
D) gfayor st

117) Which one of the following waves/rays CANNOT pass through vacuum?

A) Sound waves
B) Gamma rays
C) Ultraviolet rays
D) Radio waves

117) fo=tai@d & ¥ S Ul a3t/ fmot fdTa @egH) 9 787 ToR gl &2

A) eafay a3
B) e fezor
C) orrafarey faRgor
D) Yz @’

118) Invar, a nickel steel alloy is used in clocks due to which of the following characteristics?

A) Negative thermal coefficient

B) Positive thermal coefficient

C) Low coefficient of thermal expansion
D) High coefficient of thermal expansion

118) 3R, Ueh Ta¥cher T T4 UTq 1 IUANT ufzat 7 Peafaf@a 7 4 fra Rdvar & HRol R
STl &7

A) FOTcA 2ael 10D
B) trefteaen 2afer T[UII

C) ®u d1il faEar Tl
D) 3= d1dig fawar urie
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119) The ideals of 'liberty, equality and fraternity' stated in the Preamble of the Indian Constitution
have been taken from the

A) Russian Revolution
B) Irish Revolution

C) French Revolution
D) Spanish Revolution

119) R Gfaener Y Seg R & aftid Tad=ar, GAMAT 3R SYaT & el B foha shifea © form
T §?

A) e sifa
B) smafyer wifa
C) thar wifay
D) vt shifar

120) Who among the following appoints the Prime Minister of India?

A) President of India

B) Governor of state

C) Citizens of India

D) Chief Justice of India

120) fAFEATET & @ I YR & gute 741 1 AP $d1 87
A) YRT & seafa

B) T &1 asare
C) YRd & aeR®
D) YRa & Az wamarher

121) Which of the following Articles of the Indian Constitution declares that no person shall be a
member of both the houses of Parliament?

A) Artcle 100
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B) Article 101
C) Article 98
D) Article 99

121) REafaf@a # @ URAA Tfaune B1 S A1 3fwde i 1§ 6 BIs HI cafda 998 & et
Hew HTHEGET g1 g2

A) 3= 100
B) /=< 101
C) e 98
D) sf=ese 99

122) Which of the following communities celebrates the Hemis festival in honour of Guru
Padmasambhava's birth anniversary?

A) Buddhist
B) Jain

C) Sikh

D) Parsi

122) fAFATQf@d 3 A I I GHE [T TeATsd B Sl & TFAT & 3T cgr #1182

A) steerersit
B) Sfereraf
C)R_w

D) gt

123) Onam, the biggest Hindu festival during which snake boat races are conducted, is celebrated
in which state of India?

A) Karnataka
B) Kerala

C) Assam

D) Tamil Nadu
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123) 30T, G99 FS1ie calgR, o SR T AT SIS ST T St §, YR & fongy s
TETIT ST 82

A) Fsites
B) 3=a

C) 3rqm

D) affrerars

()

124) In which of the following regions in India is the Ramman festival celebrated?

A) Malwa region

B) Bundelkhand region
C) Garhwal region

D) Marwar region

124) YRA & Pefaf@d & S frg &7 & AT 3c8a J4[™T SITdl 82

A) HTdT &

B) gecrds ety
C) Trgaret &
D) ararg e

125) Sir Creek forms the boundary between which of the following two regions of India and
Pakistan?

A) It separates Gujarat state of India from Sindh Province of Pakistan

B) It separates Punjab state of India from Punjab Province of Pakistan

C) It separates Odisha state of India from Sindh Province of Pakistan

D) It separates Rajasthan state of India from Punjab Province of Pakistan

125) faT Frer YR 3R Iifrede & Aefaf@d S 9 & &37 & o JHR™r §95a1 82

A) g HRA & ORI T Pl IIfehedler & Y gid I ST HRal &
B) g8 URd & USTd I D Iifhedi & USTTS Uid I 3T hRdl g
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C) I8 YRd & 3N T Bl qifFeara & [er oid I 3] Hdl @
D) gg URd & TSI ToT D! IIiFrEdteT & Uold uid 9 el Hdl &

126) Kundapura Mangroove is located in which of the following states in India?

A) Andhra Pradesh
B) Gujarat

C) Karnataka

D) West Bengal

126) SHETRT Haha YR 3 Pearfafla 3 F frw 7o 3 fRua €2

A) 317er yeer

B) 1oR1d

C) st

D) ufRes s

127) In which year was the Rowlatt Act passed that was officially known as 'Anarchical and
Revolutionary Crimes Act'?

A) 1917
B) 1919
C) 1918
D) 1920

127) Jdic vae e a§ & aria frar a1 o1, o 3nfiees dR R 'SRISTE 3R shifderry SURTY
sffATa & AH I SFET SIar 912

A) 1917
B) 1919
C) 1918
D) 1920

128) In support of the Khilafat movement, the Non-Cooperation movement in India was started by
which of the following Nationalist leaders?
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A) Subhash Chandra Bose
B) Bal Gangadhar Tilak

C) Mahatma Gandhi

D) Raja Ram Mohan Roy

128) rFfaf@a Teeard Adrsit & ¥ fras carT f@erhd Sfiaad & gade & YRd & SRIganT
STiGIe & famam T AT

A) gUIY e I

B) a1t TR ot

C) FrgreaT el

D) 31t X1\ Hig 1™

129) As per Article 53 of the Constitution of India the executive power of the Union is vested in the

A) Chief Justice of Supreme Court
B) Prime Minister
C) President

D) Speaker of Lok Sabha

129) HRA & TIETeT & 3Iede 53 & TR FY & HRTferar rfFd

A) 3TaaH FaTaTed %ﬁ@mﬁﬁ%rﬁﬁ%ﬁ%
B) werrer 74 & fifea 8

C) greeufa & AfRa §

D) dliep THT & 3reret & AR §

130) Supreme Court of India has formulated a set of guidelines to be followed for entertaining

letters or petitions recieved by it as PIL(Public Interest Litigation). Which of the following options
falls under the given set of guidelines?

A) Petitions related to landlord-tenant issues
B) Petitions against police for refusing to register a case

C) Issues related to admission into medical and other educational institutions
D) Service matter and those pertaining to pension and gratuity

Page510f86



Setld: 61813 3 Technical Assistant (LAB) - Chemical BATCH3 180CT2020

130) YRd & Fafed =amaTerd = PIL(STTed ITfaen) & &9 3 gred g4t a1 arfensit & e @ fao
enfadelt H1TH e glauried frar g | Pefaf@d & ¥ & 91 ey 37 feenadat & I & siaea
3T &2

A) T FTfer-fRrIgR Heat § waftd e
B) A got R ¥ 37HR DA R Yford & Qe anfemr
C) farfercam iR 3 QYeTOTes TEumett  saer § e T
D) atterdy Taeft AR treret SR sreeré @ wsiferr T

131) Which of the following dates is celebrated as the National Technology Day in India to
commemorate Operation Shakti?

A) 29th August
B) 5th June

C) 23rd June
D) 11th May

131) SHTIRRA eIfFa BT 1T Peiaat B & T HeAai@d & J S U airg TsET died @i feaq &
9 & FS STa g7

A) 29 3rTEa
B) 5o
C) 23 5

D) 1173

132) Udio, India's first social mobile wallet was launched by which of the following digital payment
start-up companies?

A) MobiKwik

B) TranServ

C) Oxigen

D) State Bank Buddy
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132) fraifaf@a & ¥ fha RfSea YA 3ie Tere 30 HUH! gaRT HR T ggel AHTD Hids
didie, Udio o1 & fomam T Y17

A) afafeas
B) ziws

C) sffereareT
D) ree & 5t

133) World's lightest satellite weighing only 64 gms named as 'KalamSat' was launched by which
of the following space organizations?

A) Indian Satellite Research Organization
B) National Aeronautics Space Agency
C) European Space Agency

D) Russian Federal Space Agency

133) Re=ifoarf@d & 9 fore 37dReT Y3 SaRT 'BAHIIC ATHG 32T & Y goh 398 Bl gaifid
e AT U7 F T 9ol dad 64 T 82

A) URda saRer SrdU™ FTe
B) A3Md wistfesd T0d woid
C) g1ty 37afver woleh

D) :feaae hevaedw woid

134) The highest Life Time Achievement Award in Sports and Games instituted in 2002 by the
Government of India is

A) Rajiv Gandhi Khel Ratna Award
B) Dronacharya Award

C) Dhyan Chand Award

D) Arjuna Award

134) YURT ARBR eaRT 2002 & T B 3R shrer & 847 # Fafea AW <RH srehiasie 3@
(SHITIRT GIEHR) I I 62
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A) Irsitg Mief Ee TeT JREPR
B) gomars grehR

C) eaerde; QREaR

D) 3fSfet qreehre

135) Which cricketer is named the Goodwill Ambassador for Street Child Cricket World Cup 20197

A) Mithali Raj

B) Harmanpreet Kaur

C) Mahendra Singh Dhoni
D) Virat Kohli

135) TEIE T1Se3 fhehe faed HU 2019 B forw v fhehex 1 T[aer Taawst A1TAd fohar T 87

A) frareh IS
B) exaada HR
C) g fig ot
D) farte g

136) How many constituencies voted in the first phase of the Lok Sabha Elections 20197

A) 71
B) 81
C) 91
D) 99

136) THHHHT TG 2019 b Teel TR 3 forcke fovaTaet avt ¥ HAGH gair?

A) 71
B) 81
C) 91
D) 99
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137) Which of the following states did not go to the polls in Phase 1 of the Lok Sabha Elections
20197

A) Andhra Pradesh
B) Assam

C) Bihar

D) Tamil Nadu

137) fe=Afaf@d & 9 319 91 T2, A THT A1 2019 & Ugd R0 & &gt U1?

A) 3tier geer
B) s/
C) e
D) affrerang

o

138) Where in the human body is the urea formed?

A) Liver

B) Kidney
C) Stomach
D) Spleen

138) AMA 2R 3 JRAT FHgi a1 82

A) e
B) e

C) s
D) it

139) Woollen sweaters keep us warm during winters. Identify the CORRECT reason which
supports this statement.

A) The trapped air in the woollen sweaters is a good conductor of heat
B) The trapped air in the woollen sweaters is a bad conductor of heat
C) The wollen sweaters reflect the heat away and keep the body cool
D) The wollen sweaters allow air to circulate below the fabric
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139) S E3eX &3 Tt B SR 9197 WA &1 3T HYT HTFAYH B I TET PRI ) ggarey |

A) SefiEdex & Bl g, AT T 3reedT TaTed gl o

B) St edex # il gal, d1g & 3r<d YdTed o1& gidl §

C) S Edex 10 &I Wrafdd HRd & 3R R DI dSRTd &
D) it edex, 591 &l HUSH HicR Famid B o &

140) The total number of Fundamental Rights in Indian Constitution after the enactment of the 44th
Constitutional Amendment, 1978 is:

A) 6
B) 5
C)4
D)7

140) 443 Fenfares MY, 1978 B JfAfATAT & d1G HRAN Ty & Aifores rfRwRT 6 oo
HEAT fhelel 87

A) 6
B) 5
C) 4
D)7

141) The rock-cut temples of Mahabalipuram were built under the patronage of the

A) Pallava kings
B) Chola kings
C) Chera kings
D) Pandyan kings

141) TRl Bl DT P TIY T HAGTAToIqRH B HIET BT oA TOT fafet ST o FYator ¥ 53T T2

A) geera ST
B) Zra et
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C) =R 1o

D) gigarer el

142) Ugadi is celebrated as New Year's Day by the people of which of the following states?

A) Karnataka

B) Assam

C) Madhya Pradesh
D) Himachal Pradesh

142) PF=TAAd & DI Y T B A9 eaRT SIME I AT A & et & & & AR STl 62

A) Fstiee

B) a/m

C) #e weer
D) feamerer weer

143) Which of the following ridges is located in the northern section of the Central Indian Ocean
Ridge?

A) Nazca Ridge
B) Gorda Ridge
C) Carlsberg Ridge
D) Cocos Ridge

143) faAfaf@a &  $ I 94 Heh ALY ig AR Hedh d 3adr HIT 7 Rua &2

A) 15T Hedh
B) aitst ek
C) #redasT heh

D) Sl g dHesh

144) Who among the following was defeated in the Battle of Plassey in 17577
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A) Siraj ud-Daulah
B) Lord Clive

C) Colonel Watson
D) Mir Jafar

144) 1757 3 cordY & Jggr 7 Ao fafe & d P wRIfsTd g ur?

A) RareT SEare
B) &ifs Frerza
C) seter dicT
D) iR SR

145) Who among the following rulers marked the end of Maratha dominance in Punjab with the
third battle of Panipat in 17617

A) Akbar

B) Ahmad Shah Durrani
C) Ibrahim Lodi

D) Bairam Khan

145) =T e & ¥ fhaer 1761 3 UFIUd T frad) TSTS b H1Y USTd & TRIST y8ged & 3id
CARRIRGGRRER IV,

A) 3fhaR

B) sfgwe =g et
C) anfear @ity

D) Ry @M

146) The Bharatiya Janata Party (BJP) is the successor party of which of the following parties,
which merged itself into the Janata Party in 19777

A) Bhartiya Shakti Sangh
B) Bhartiya Jana Sangh
C) Bhartiya Hindu Sangh
D) Hindu Mahasabha
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146) YRATT SaT arél (BJP) Refaf@a & ¥ fra urél 1 saufey urél g, S 1977 & S=ar uréf
H R g1 s e

A) YRdg afeFa g
B) yRda & ¥y
C) yRdla g &y
D) R wgTaHI

147) What is the wireless technology developed at Indian Institute of Technology, Kharagpur for
remote monitoring of condition of those patients who are ferried in ambulances?

A) AmbuSens
B) Live-Mont

C) Diagno-ext
D) RemoteAmbu

147) HRA A dear TSTR & [l aRRe™ qhb-id Pl T 917 § S Targerd & TR
A AT AT BT I AETOT BIM?

A) g
B) @ga-Atee

C) srgear-tarae
D) R#eury

-

148) ROSA is an experiment conducted by NASA to power satellites and spacecrafts. ROSA is an
abbreviation for:

A) Research On Satellite Adamance
B) Roll-Out Solar Array

C) Research On Satellite Adaptability
D) Roll-Out Solar Adaptability
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148) ROSA 3uargh 31R 37cAfeT ATeit B Foil G & foIT NASA SaRT Farford T yleT g1 ROSA
fergrenT TfEIT &9 87

A) R 39 dearse Tsie

B) Jd-33eTIeR 3R

C) R 3if9 Jearge vseefafardr
D) Jdi-3m3e HleR vsTefafad

149) In Asian Games 2018, who won the gold medal in Men's Triple Jump Event?

A) Tejinder Pal Singh
B) Rohan Bopanna
C) Divij Sharan

D) Arpinder Singh

149) 2018 TS Well &, Yoot H feuer SU 3dc 7 Taot Uaed fraer Siid?

A) dfsie uret e
B) I8 Sigeatr
C) Rxfast =R
D) srfiez Rig

150) Which of the following awards is given mainly to the overall top winners in the Inter-University
tournaments?

A) Maharaja Ranjit Singh Award

B) Maulana Abul Kalam Azad Award
C) Vijay Hazare Award

D) Santosh Trophy

150) fAe=ATaf@d & ¥ S 1 WEhR &g &9 ¥ Sfar-Aafdearery Al & $d Ny aidnsit &
feram iTell 87

A) HERTST 0TS &g JREPR
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B) HIeTH1 31gel el SHTolle REFR
C) fasrar g9IR 31a1$
D) ddly grehr
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Section 4 - Chemical

No. of Questions: 50

151) Which among the following options is the dimensional formula for kinematic viscosity?

A) MLT-"
B) L2T!
C) L2T
D) L2T2

151) fAeaAfaf@d Rl & § HH 1 Feadfes RAenfad & e smand 7 87

A) MLT-"
B) L2T!
C)L2T
D) L2T2

152) The Sl unit of Surface Tension is:

A) N/m3
B) N/m?
C) N/m
D) N

152) Gs& d1d BT S| #ATIH &

A) N/m 3
B) N/m ?
C) N/m
D) N

153) Which among the following options CORRECTLY represents the Specific Volume of a fluid?

A) It is the reciprocal of specific gravity
B) It is the reciprocal of mass density
C) It is the reciprocal of specific weight
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D) It is the reciprocal of viscosity

153) fre=Ifaf@a &  HH U1 Rered Th RA I & fafdrse 3Ia- &l G g2ifar 872

A) g faRIse TToca &1 egehdr ARAWI) 3
B) U geumte geica B cgesha (YR g
C) 15 faRlise YR F egeshar (R §
D) ug eamerdr &1 egesher R g

154) Nusselt Number is a ratio of which of the following options with respect to heat transfer?

A) Convection / conduction
B) Diffusion / convection
C) Conduction / radiation
D) Convection / radiation

154) ZEAT TRV b HaY & aee R, Priaiad & ¥ fha Fehed BT TP UM 57

A) Tagd / aTa

B) fawwor / S
C) g1 / fafenzor
D) Hag / fafezor

155) Which among the following statements CORRECTLY represents Kirchhoff's law?

A) The total emissive power of a black body is proportional to the fourth power of its absolute
temperature, T

B) The energy received per unit of the receiver surface area is inversely proportional to the
square of the distance from the source

C) The maximum monochromatic radiating power of a body Am is inversely proportional to its
absolute temperature, T

D) When a body remains in thermal equilibrium with its surroundings, its emissivity
and absorptivity are equal
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155) fre=ifaf@d & § HH-91 HU fFars & e o) agr gfar 82

A TE FIA iz 6 $d Scaord AfFd IUd ARdeT TUHM, T 6 9q% O1d & FHA N gt 8
B)  Refiay UdE &1 &1 wfy gfere wredt Faft, A O o & aet & egesmarurd eIt §
C) U fiis &1 3fTmas AT RfERRT AfFd A, ST FRUET AT T & Fehaagdrd! 3

D)  a 3IE Rz ou gRkaer & 1Y 2 Yo & 61 6, A 3T Scqoidr 3R Sa=IyurRiterdr
A Bl 8

156) Read the following statements and choose the CORRECT option.

(i) The Solvay Process is extensively used for industrial preparation of sodium carbonate (soda
ash).

(i) Caustic Soda is generally prepared commercially by the electrolysis of sodium chloride in
Castner- Keller Cell.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (i) is TRUE
D) (i) is FALSE and (ii) is FALSE

156) Tl HUaA! B 9& 3R TEY Rehed ot |

(i) AfeTH Felae (ASTURT) T 3ie e Ay & T died uishar BT T8 UATM TR SUINT f3har STl
gl

(ii) I TISTIHMHIR W HREER-HeR Ud & TfETH FR1S3 D gaFel @ eaRT AGHIASh &
 §T ST B

A) (i) T 8 3R (i) T& 8

B) (i) @€Y § 3R (i) Tad §
C) (i) Terd & 3R (ii) TEY B
D) (i) TTerd § 3R (ii) T &

157) In a binary gas mixture, which of the following options is the CORRECT relationship between
diffusivity (D) and the temperature (T)?
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A)D o T
B) D o TO5
C)D o T'S
D) D T2

157) T a8 119 fsor &, Peafaf@a 7 @ o 91 Feey, feoriedar (D) 8k d9a  (T) &
S BT EE &Y 72

A)D o T

B) D « TO5
C)Dux T"S
D)D «x T?

158) Polytetrafluoroethylene (PTFE) is commonly known as:

A) Bakelite
B) Teflon
C) Celluloid
D) Dacron

158) GTell ¢eTFeaR] SUTSAST (PTFE) PI AT &9 9 fohe A ¥ FHT ST 52

A) Sdrse
B) 2wt
C) Aearaes
D) 3grer

159) Which of the following options on nitration produces Trinitrotoluene (TNT)?

A) Nitrobenzene
B) Toluene

C) Nitrotoluene
D) Benzene
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159) ATSeA W ReATaf@d & T D Il [aehed grarsereras (TNT) H f#Tor Bl 87

A) FrggIdTtet
B) Srega
C) Fméereras
D) =it

160) What type of reaction is the preparation of BHC (Benzene hexachloride) from benzene?

A) Addition reaction

B) Substitution reaction
C) Polymerisation reaction
D) Chain reaction

160) S=aiieT ¥ BHC (S=aiiel earaTFaiNIes) o1 [HT0T, fhe gerr &t 1A 872

A) Fatreas ATAfRIT
B) wfarearaer sif@ifear
C) Sgerhrantor srfafrar
D) siferer 3t

161) In chemical engineering, which among the following options is CORRECT for the steady state
flow of liquids?

A) Accumulation in the flow system is infinite

B) Inflows and outflows are constant in the flow system
C) Properties of the flow system changes

D) Generation in the flow system is finite

161) TETATH Soferafier &, a¥a yerdf & fEer sraeen & fore Rrafaf@a # § $H A1 e a8
87

A) yarg gotrelt # T 3affAa 8
B) yarg gomrel ¥ 3iqals SR afeale R &
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C) yarg yomrelr & U7 Saerd &
D) vareg worrel & SFRYH aRfAd 8

162) Selectivity of a chemical reaction is defined as:

A) Ratio of moles of product to moles of reactant in any particular reaction

B) Ratio of moles of by-product to moles of reactant in any reaction

C) Ratio of moles of desired product to moles of undesired product formed in a set of reactions
D) Ratio of moles of by-product to moles of reactant in the shortest step of any reaction

162) TS TARITIF FATHAT 7 TATcHTT fhd & &9 7 afeia $r 91t 82

A) Tl i 3Ry wfafsear &, 3cure & Aew ¥ 31fARS & Aled BT U

B) farely ot wfaifera o 3uicure & #ew W 31ARRSE b Aew BT U

C)  wfafsramsit & U JHg & a1fdd, aifd 3cdic; & Aled ¥ SHABHIY 3cutg P Hred Bl U
D) ey ot afafrar & Yo BI¢ =RUT & 3uicare & Ao U 1R B Aleq BT U

163) Laplace transform method is generally used for analysing the:

A) Linear behaviour of mechanical systems using algebraic method

B) N on-linear behaviour of electrical systems using algebraic method

C) Sinusoidal behaviour of the control systems using algebraic method
D) Random behaviour of the mechanical systems using algebraic method

163) 3 IR R o= et & T frar [32ervor R4 & fT drcelTd crawiey 3R &1 IUaT fear
ST 87

A) eI R BT ITANT HRD Aehfachel [ATcH & {WF TR & faRavor & faw

B)  drerforda fafer &1 UGN dxds saifdead REed & IRIWS cgagr & fagaor & fow
C)  diceriorda fafr BT IYIANT B shelel [AECH B AN eadgR & [d2eNuT & farw
D)  Soerford RS &1 IUANT e Ao {EcH & Irefcad cgagR & [a2avor & farw

164) Read the following statements and choose the CORRECT option.
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(i) A thermocouple is a simple, robust and cost-effective instrument used in a wide range of density
measurement processes.

(ii) A thermocouple is also known as thermal junction.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (i) is TRUE
D) (i) is FALSE and (ii) is FALSE

164) o=TTaiAd HUaAT BT IS AR TEY Aehed Toi |

(i) UHTRT, BeTea HIU Tihan3it i T faedd Yo7 & SUANT fhar S dTal Ueb R, Holed 3R ANTd
GHTE FUBRUTG |

(il) gAfeFTer B et ST & &9 & Y ST S B

A) (i) T€r 8 3R (ii) TET §

) (i)
B) (i) =& & 3R (i) 7Tod §
C) (i) TTerd 8 SR (ii) TET B
D) (i) TTad § 3R (ii) T B

165) What is the full form of OSHA with respect to safety management in an industry?

A) Obeyed Safety and Health Agreement

B) Obligational Safety and Health Administration
C) Occupational Safety and Health Administration
D) Occasional Safety and Health Administration

165) TRl SeaT 3 YR&Tr JaurT & e & OSHA &1 YoT &9 T 62

A) a8 AwE TS ey rfieie

B) sifeemierster 9% TS gy sfAREe=
C) 3irgUTd awd TS gey wefAfaee e
D) aiiargd awdY TS gey usfRfaee e
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166) Which of the following options is the CORRECT full form for OPCW with regards to chemical
weapons?

A) Organisation for the Production of Chemical Weapons
B) Organisation for the Policy of Chemical Weapons

C) Organisation for the Protection of Chemical Weapons
D) Organisation for the Prohibition of Chemical Weapons

166) fe=Tari@d & ¥ B U Rehed TATw gRART (F@wer 3u=a) & Hdy 7 OPCW & forw got
&9 87

A) SRR BR T Wgererel 31 hidiehel a0
B) SRAISSIRM BIR G diferdy 31t shidehel aueq
C) AMfEST BR € FeaereT 31 Hifede du=d
D) SRfATSSIRM BR G Ui T2t 3t Hifidel au=d

167) Reynolds number for water flow through a tube of inner dia 5 cm is 1500. If a liquid of 8
centipoise viscosity and 0.85 specific gravity flows in the same pipe at the same velocity, then the
pressure drop will

A) Decrease

B) Increase

C) Remain same
D) Be unpredictable

167) 5 cm $ficY AT Y TP egd B ATETH Y U B Jd1g & foIv Ieites & &A1 1500 51 3R 8
Afedis T 3R 0.85 TAfRISe [ocareyor aTel Teh aRel, JHIUIRY & I AT 8 yarfee gl &, A
2R 319 (G819 FR1ae):

A) g ST

B) 5rg smem

C) I &r e
D) srgeanfara grm
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168) Which of the following options represents "Vena Contracta" of a fluid flow through an orifice
meter?

A) Minimum cross section of the fluid jet

B) Maximum diameter compared to orifice diameter
C) Minimum velocity of fluid flow

D) Minimum fluid mass flow rate

168) A faIfld & T I T Fhed Uh NRGEF HeX & ATLIA T IR YaTg P "1 Hiecaer” B
QT &2

A) FIZSTIC (R Sic) BT=gTaH e daereT

B) sRwrsa STHICR (camr) i o 7 ifterde sara
C) IRl warg Bl=g7ad a7

D) =99 TRl gemaT varg

169) Which of the following options represents the CORRECT Prandtl Number (Npr) with respect to
heat transfer?

A) Npr = Molecular diffusivity of heat / Molecular diffusivity of momentum
B) Ner = Molecular diffusivity of momentum / Molecular diffusivity of mass
C) Npr = Molecular diffusivity of mass / Molecular diffusivity of heat

D) Ner = Molecular diffusivity of momentum / Molecular diffusivity of heat

169) eIt & T DI U1 [dehed FAT 3i=cRoT & WY 3 FEY Tiee TE&AT (Npr) Bl &=1TdT 52

A) Npr = ZSAT T 30T TaERoTerar / Hav T 3nfae faaRorefverar
B) Npr = Ha7 ¥ 30 TAERoTeNerdr / gea@Te 1 3M0ash faazorfierar
C) Ner = gea@Te $r 3nfOas fquRoriierdr / FsaAT fr 3nfPas faaoreiierdr
D) Npr = ST & 3nfOger TaaRoniierar / ST it 3nfoas faaRorfierar

170) Which of the following statements is CORRECT for the transient nature of heat conduction?

A) Temperature distribution is independent of time
B) Temperature distribution is dependent on time
C) Heat flows in one direction only
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D) Heat flows in three directions

170) f¥e=T 3 q S T HYA, 3IAT I & 87101 TdeR (SITATe 7TR) & folw FéY 82

A) AT feRoT G Q T eIl 8
B) U fyeRor 9HY W ek gt 8
C) dract Ueh e & 3T BT 5aTE Biell
D) zsar 9 Ryemsit & varka gl 8

171) How many valence electrons does each of the elements of Group 15 in the periodic table
consist of?

A) 2
B) 3
C)4
D)5

171) 3ad YR # THE 15 S T ded & fohdel Joi Solerele 8l 87

A) 2
B) 3
C)4
D)5

172) Which of the following properties is NOT modified by alum that is usually used as a coagulant
in water treatment?

A) Odour
B) Turbidity
C) Viscosity
D) Taste

172) T=Ttaild & ¥ e 701 &I ftheand) eaRT Sadl ! o Yabdl § Sl STHAR R ofd SUIR & Th
PIIICIC B & & SUAN 3 ST 57

Page710f86



Setld: 61813 3 Technical Assistant (LAB) - Chemical BATCH3 180CT2020

A) T
BRI |
C) earetar
D) &arer

173) Which of the following processes or laws is used for the industrial manufacture of Ammonia?

A) Dalton's Law

B) Haber Process

C) Avogadro's Law
D) Stefan Process

173) frafaf@a 7 @ &9 It ufkar ar WW%WW%WWWW
a?

A) sTeee &1 s
B) greR wfshar

C) sravemgr &1 faws
D) T&ropet wfgrar

174) Read the following statements and choose the CORRECT option.

(i) The different modes of mass transfer are - Diffusion, Radiation and Change of phase.
(if) The diffusion in solids is usually faster than in liquids.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ii) is FALSE

174) Pr=Tai@d HUaAT B 9& AR TEY Rehed Tot |

(i) GEIHTST 0T (W rawe) & faffest ol &- faaworelerar, fafaor, 3R sraear aRad=|
(ii) B wer2if #F fyERoreierar SR W aRe geraif & ga- 7 a9 gidl o
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A) (i) TEr § 3R (i) T8 &

B) (i) @€Y 8 3R (i) Tad §
C) (i) T & R (i) TET 7
D) (i) Tad § 3R (ii) T B

175) In an azeotropic mixture with respect to mass transfer operations, the vapor composition is
usually:

A) More than liquid composition
B) Less than liquid composition
C) Same as liquid composition
D) Independent of pressure

175) GeTHTST HeaR0T BT & GaY # FeuRerared (YaieIfie) fAsor 7, arsg Yged 3R 0R;

A) RS Hoed 3 31 gidT &
B) R ducd A HHATIAI ©

C) ava Tged & JaH BT g
D) ga19 d TadT eldl &

176) Which among the following options is formed by the condensation of hexamethylenediamine
and adipic acid?

A) Perspex
B) Nylon 66
C) Calcium Carbonate
D) Bakelite

176) faAfaif@d fRsedt & A B 1 grarauEsfoaserasT 3R ufaie ufis & g9 9 9947 32

A) T

B) A2 66

C) $feras wefae
D) daheirge
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177) Which of the following processes is used for the conversion of oils and fats to soap?

A) Hydrogenation
B) Esterification
C) Saponification
D) Titration

177) fAeafaf@a & 9 &1 A ufhar dd 3R 991 & FIeH & TIaR0T & fore I Y §Iedl 67

A) grsgifSiferaor
B) veefreor

©) SR

D) srrwme=

178) Read the following statements and choose the CORRECT option.
(i) Waxes are esters of long chain carboxylic acids with long chain alcohols.
(i) Usually, Carnauba wax has a 64 carbon carboxylic acid component.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (i) is TRUE
D) (i) is FALSE and (ii) is FALSE

178) =Tl HUaA! B 9& 3R TEY Rehed et |

(i) 3 (1) Tieil T 3oahigel B ATY Teil 4Gell e TS & Teex &
(il) SMTHIR TR BRAST 7 7 64 FT FraiiFariors s ged gidl ¢

A) (i) TiEr 8 3R (i) T8 &

B) (i) @€Y 8 3R (i) Tad §
C) (i) T © R (i) @ 7
D) (i) TTed § 3R (ii) T B
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179) Which among the following options is used as a solvent for the extraction of oil from oilseeds
in general?

A) Krypton

B) Boron Nitride

C) Hexane

D) Strontium Phosphide

179) 3 IR W fefaf@d Reedt & ¥ frasr IUAN U6 faras & &9 7 [Aoe 9 ad s &
fore famam ST 87

A) fpeeter

B) IR wAgerss

C) areT

D) Eeiferra# wrewrss

180) What is the pH value of a solution containing equal concentration of hydroxyl and hydrogen
ions?

A) 0
B) 10
C)7
D) 14

180) grssifarde 3R grealstet 3T $r A AigdT gl Ul D1 pH HIF T 8?

A) 0
B) 10
C)7
D) 14

181) A gas has a volume of 27.3 c.c. at 0°C. If pressure remains unchanged its volume at 10°C will
be:

A) 2.73 c.c.
B) 28.3 c.c.
C) 273 c.c.
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D) 283 c.c.

181) 0°C TR U 19 &1 3T 27.3 c.c. 8| afE Ta1d 3raRafda @ dl,10°C WR TSI d el
BITT?

A) 2.73 c.c.
B) 28.3 c.c.
C)273 c.c.
D) 283 c.c.

182) Read the following statements and choose the CORRECT option.

(i) In proportional controller, offset can be reduced by increasing the proportional gain, however
that may also increase oscillations for higher order systems.

(ii) By using the P-I (proportional-integrative) controller, the steady state error can be brought down
to zero, and also the transient response can be improved.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (i) is TRUE
D) (i) is FALSE and (ii) is FALSE

182) fAFATafld St Bl 9 3R TE) fashed T |

(i) SrAETeTeT Sheter &, WrareieTer 19 TEIHR 3THC & 3T ST Jobdl o, oifdhet Oy 3ifEeererd 8RR
TSR eeA & faw Ig @ad 8|

(i) P-1 (TeeieTer- SETea) heTor BT SEAAT PP, T2 T TR DI e AP AT Sl Fhell 5, 3R
giforue Yedia &f i 9gaR frar o Iadi g

A) (i) T 8 3R (i) TET 8

B) (i) @ér © 3R (i) Teid §
C) (i) T & R (i) T 7
D) (i) TTard § 3R (ii) T &

Page760f86



Setld: 61813 3 Technical Assistant (LAB) - Chemical BATCH3 180CT2020

183) In Process Instrumentation and Control systems, On-Off control is a special case of:

A) Proportional Control Mode

B) Proportional Integral Derivative Control Mode
C) Proportional Derivative Control Mode

D) Proportional Integral Control Mode

183) MO e 3R Fherer faeeH #, 3fF-3h ahcrer T8 et & F frdert U LU 39 82

A) el sheter HIS

B) gratelerer gdiarer 3fafea ahgier HIS
C) drareierer 3afea g IS

D) srdreTerer Séarer shetel AIS

184) What is FMEA with respect to safety management in a chemical industry?

A) Itis a manual analysis to determine the consequence of component, module or subsystem
failures

B) Itis an emergency services subsystem that is consisting of plant and community
components, including the modules

C) ltis a software for determining only the number of industrial equipment failures
D) Itis a method of analysing the separation and isolation of chemicals in the industry

184) TrETafoeh SeaT & YR&T Yeer & Hee & FMEA &7 67

A) I8 9P, AZgd U1 39T Atheldnait & aRom efiRd B BT AT fAeavor 3

B) g% U 3mdrcehTel=t W1 aefliEeA § Sl G SR e gesht I fBere §d1 &, S Alsga
afea 8

C)  ug 3ot SUBRUIRAIGeaT3it 7 Had Fear iR B3 & fw U dvedan

D) g% 3ezier & et & faerere 3R S{eRTd &1 faersor - &1 U 3y §

185) A pipe having cross-sectional area of 80 cm? at section ‘P’ has a velocity U1 =10 cm/s. If the
pipe converges with velocity U2 = 20 cm/s at a section ‘Q’, then what will be the cross sectional
area at section ‘Q’?
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A) 160 cm?
B) 120 cm?
C) 60 cm?
D) 40 cm?

185) 80 cm?2 & G-Il & T%er dTd UTSY & Jarerel ‘P’ & farw a7 U = 10 cm/s B 1 Ifg Q2T ‘Q
TR UTSY &1 HFREROT, AT U2 = 20 cmi/s T BT 8, I e ‘Q° IR shig-Qeerelel S1Ttel il g2

A) 160 cm?
B) 120 cm?
C) 60 cm?
D) 40 cm?

186) Read the following statements and choose the CORRECT option with respect to Heat
Exchangers.

(i) Forthe same inlet and outlet temperatures, LMTD for the counter flow is higher than that for the
parallel flow.

(ii) The full form of LMTD with respect to heat exchanger is Log Mean Temperature Data.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ii) is FALSE

186) fAFaATafAId et B 9 3R Ec TFiory & YaY 3 TEY Rehed |

(i) THAM 3de 3R ST ATTHH & forT, HRIeRyarg & forv LMTD JHHIAR varg ¥ 31/ g1
(i) €1e TFEIeR & GEY & LMTD H1 90t &9 @11 HF 2e¥=r &I 8|

A) (i) TEr 8 3R (i) T &

B) (i) @é & 3R (i) Ted §
C) (i) TeTel © AR (i) TET B
D) (i) Tera g 3R (i) 7o §

187) Read the following statements and choose the CORRECT option.
(i) The lonization energy decreases as we move down the Group 15 elements of the periodic
table due to increase in atomic size.
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(i) The electronegativity decreases as we move down the Group 15 elements of the periodic
table due to increase in atomic size.

A) (i) is TRUE and (ii) is TRUE

B) (i) is TRUE and (ii) is FALSE

C) (i) is FALSE and (i) is TRUE

D) (i) is FALSE and (ii) is FALSE

187) =TTl et B 9 3R TEY ehed ot |

(i) STE-S1G B 31ar RO & 377 15 ceal & A1a T SR S §, I9-d9 Teiffiss AIee & deiadl &
PR ITIHIHRUT 3T HH il oIl B

(i) S-S g 3 IROM & T 15 deal H AT Y SR A1 B, IV-Y v TS & q@ad &
BRI e Id-RUTcHeRT HH Il oIl © |

A) (i) Tér & 3R (i) T &

B) (i) @ér 8 3R (i) Tod §
C) (i) TTerd 8 SR (ii) TET B
D) (i) et § iR (ji) TTerd ©

188) Read the following statements and choose the CORRECT option.
(i) Red Phosphorus is a very poisonous substance in its pure form.
(i) Red Phosphorus is highly soluble in water.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (i) is TRUE
D) (i) is FALSE and (ii) is FALSE

188) =TI FUAT B U SR TEY Rehed et |

(i) STl HIERRE S0 Yarr &9 7 T S5 & gl Tard g
(ii) TS BRGRE UM & 3rcafis gem=id g

A) (i) wér 8 3R (i) TE€r ©
B) (i) @€r 8 3R (i) Tad §

Page790f86



Setld: 61813 3 Technical Assistant (LAB) - Chemical BATCH3 180CT2020

C) (i) T & 3R (i) TE ©
D) (i) e g 3R (i) 7Teid §

189) For gas absorption, low viscosity solvents are usually preferred because they provide:

A) Better flow characteristics and low pressure drops on pumping
B) High pressure drops on pumping and higher absorption rates
C) Low absorption rates and lower flow rates

D) Better flow characteristics and high pressure drops on pumping

189) 1 AR & fIT, HH LT [Felraeh SHAR W AT & Fifh:

A) T 9gaR gaTe T[0T IR difer IR Rt GaTd fRrae vere i &
B) & uftiar R 3==r 314 fRrae, 3R 3o SaRINUI &R Yele il &
C) T et ARV &R R o7 YaTg &R el hich &

D) 3 SR varg T R 6ftier R 324 G614 FR1GE Gere ad §

190) Which of the following processes involves the transfer of mass between a gas and a liquid,
when the gas is brought in contact with a liquid in which it is insoluble?

A) Concentration
B) Diffusion

C) Evaporation
D) Humidification

190) raifaf@a & ¥ fra ufdear 3 719 3R R & 19 geaeTe B TAHRoT BidT 8, 9d 19 &1 T
A & Hu & AT I & Forasl I8 SR sial 82

A) |regar

B) faeromsfrerar
C) grsdanzor

D) sméferor
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191) Soaps are generally NOT effective in hard water because:

A) In hard water soaps get precipitated as insoluble calcium salts
B) In hard water soaps get precipitated as soluble calcium salts
C) In hard water soaps get precipitated as insoluble chloride salts
D) In hard water soaps get precipitated as soluble chloride salts

191) SHAR R HOR I 2 TG Fe7relt w11 Bl & e

A) HERTA 2 TG, SN SHicwras TaU & &9 & 3raaifid gl o &
B) &Rl 7 WIeH, Yol $ierrae oaul & 9 ¥ 3aaifd g1 ofd §
C) HORTQ & WG, AR FolR1$8 AU & &9 3 el 81 o &
D) @RS # ieH, Yol Foikigs ddul & &9 & 3aaifia gl old §

192) Which of the following reagents is used for bleaching paper pulp?

A) Activated clay

B) Bromine

C) Chlorine dioxide
D) Magnesium sulfite

192) re=ifof@a & Q fre 3ifede BT IUTNT O qev et & forw faar STaT 82

A) afra e (tfaeaes o)
B) stefier

C) FoReT sra3iterarss

D) eehfRrasr gowrse

193) Read the following statements and choose the CORRECT option.

(i) The constituents of phenol-formaldehyde resins owe their polymer-forming capability to the
potential trifunctionality of phenol alone.
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(i) Phenol-formaldehyde condensation products are largely used in adhesive applications for the
production of plywood, chipboard, and particle board.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (i) is TRUE
D) (i) is FALSE and (ii) is FALSE

193) =TI HUeAT BT I& 3R TEY ehed Tei |

(i) Rrsiter-pHfesgTss XS & U, 3(UHT Sgech S T &THT bl AT 3(chal fetter & Tk
RcaragRendr (R eréhastlad) &l dd &l

(ii) FreiTer-THTesgrgs HUFT 3curel BT IUINT I UHM WR Seli$qs, Rsts 3R B 1S & Scdies &
T Rigere el ST #F fovar ST &

A) (i) €8 3R (i) TET &

) (i)
B) (i) @& & 3R (i) 7Ted §
C) (i) Terd B SR (i) T &
D) (i) TTad § 3R (ii) T B

194) Phthalic anhydride is formed by the:

A) Oxidation of benzene

B) Oxidation of naphthalene

C) Dehydrogenation of ethyl benzene
D) Oxidation of toluene

194) FAfI® TAgISEISE Y AT SITdT 82
A) ST & 3iTereliertor
B) At & sfferefiencor

C) 3ursd it & St
D) <iqg & siferefiaor d
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195) Which among the following statements is CORRECT with respect to the heat capacity of a
substance?

A) Heat capacity is higher for liquid state than for solid state

B) Heat capacity is lower for liquid state than for gaseous state

C) Heat capacity is h igher for solid state than for liquid state

D) Heat capacity is e qual for solid and liquid states below melting point

195) T IETe T FSAT &THAT B TaY 7 eaifari@d & ¥ DI I HYT FEr 872

A) S Feafay &1 ol 3 aRel Feufy & 3T ave7ar Jiferes ST 8
B) 7iuitg feufy & qa & e Reufay & ear e1ear HH g &
C) Ra Feufay &1 qor & 31 Reufay # Foar afsrar st gar
D) 314 IR R ey # A% & -Iel SeaT e7oar 9 idl &

196) What is the approximate weight of 56 litres of ammonia at Normal Temperature and
Pressure?

A) 2.5 grams
B) 2.5 kilograms
C) 43 grams
D) 53 grams

196) THAEY 1Y 3R &6 TR 56 e AT BT ao T el G2

A) 2.5 T
B) 2.5 fereltamar
C) 43 a7
D) 53 s

197) The Time Constant for a manometer system is usually given by:

(Given: | = Length of the manometer tube, and g = Acceleration due to gravity)
(symbols and notations carrying their usual meaning)

A) N(I/2g)
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B) V(2I/g)
C) 2g\l
D) W2g

197) Ueh AIHICR fees & fov T8 shiede SMHAR WR 29T garT feam ST &:

(em T B | = AHICR egd &y e elTS |, g = Ty cavon)
(Rieg/Adba U= yafara 3¢ gafa 3)

A) (I/29)
B) V(2I/g)
C) 2g\l
D) W2g

198) As per the Routh Stability Criterion, if any element of the first column of the Routh Array is
negative or zero, then the system is usually said to be in

A) unstable condition
B) stable condition
C) negative condition
D) zero condition

198) forelr Hit Rrea & forw I3Y Tafica ey RISY TfIfod #EeR3Ne) & 3R, IfE ISY W
> USA BIaH BT DS HY vfdrde Joifea a1 SIRY |, 1 T8 HeIdT ¢ & e

A) TR sraear # 8

B) Rk sreer A @

C) aifeg saear & 8
D) g (SIRY) raeen & §

199) Select the important factors among the following options that affect the extent of permeation
of contaminants in a chemical industry.

A) Indoor-outdoor waste release, weather condition and height of industry above sea-level
B) Colour, density of contaminants or wastes and height of industry above sea-level
C) Concentration, contact time, temperature and physical state of contaminants or wastes
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D) Contact time of contaminants, alertness of personnel and temperature of contaminants

199) et & TATT=AT & R ebT WU hr HHT I yamfae B dTed FgeqoT SR I AH Sdl0?

A) TSR AT R3TRISE F e, T, 3R T 0 H SHUR3EHTT H S
B) it ueryt a1 FIR BT, Tefea SR Tz Tc H SHUR3eANT H Sdls

C) 3R et a1 HoR BT @igor, Tuh GHY, AUHH IR siifas ufy

D) gy vereif & wush 19Ty, Hat S Gahar 3R g geraif H1auEH

200) 1S:2189 is an Indian Standard Code for which of the following options?

A) Indian Standard Code for Automatic Fire Detection and Alarm System

B) Indian Standard Code for Selection, Installation and Maintenance of First-Aid Fire
Extinguishers

C) Indian Standard Code for Installation and Maintenance of Internal Fire Hydrants and Hose
Reels on Premises

D) Indian Standard Code for Design and Installation of Fixed Carbon Dioxide Fire Extinguishing
System

200) IS: 2189, fAFAfaf@d & ¥ fra ey & faw Teh YR AF Hisg?

A)  3feTRE BRR Beaere 3R e fReed & faw YR AF® &I
B) wed-TSWRR taaReTaeR & T, TATIT 3R IWAG & T HRAT AFD DS
C)  3riafter e grese 3R IRET W B e T T 3R IWRWME & forw YR AHS B

D)  Rreres e Se3iierarss BRR TeATR TR AEeH & Beise 3R TA9er & fov YR
A DIS
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